RREEEAR (L) ARAF

EEEERE MH-C MH-C2 Vert-X 37E - 5V / SPI
BSRSH

WEAESHE g 0.. 360 e

I kM E(FTERID) % of meas. range ~ #0.3 BN

MY LMEERFTERNELQ@ 360°) % of meas. range  +0.5 Holl AL

B A B ’ 071 B AR ER
DYE bit 14

BRRAEEM ° 0.1

TR AR SRR R kHz 22 FREA

18R AE KR kHz (0.55) S Z R IP68
REER RGERIBLER us 400 FEAERI
BERERNREERIBLER us (600) FEmNESZE
HEESRAERERMK pom/K 25 BREWHFD
MTTFd/MTBF years 668/ 668 SREBEIE

ften e E voc 5(£10%) EEFE TSN A
T A BRIAFE (typ.) REER mA 4 (CRE, BN, REKHE)
T A BRI (typ.) BEERK mA © ERESSARIENEIH
B B R ¥Obm i RRUELLE
MEBARBEEAR nF

B8R AR 1 IR 3R I yes

BB E$E ) Wires (5x)

BREGEBE mm? 0.56 (AWG20)

BAEEER Cable 6pole

BREGEBE mm? 0.25 (AWG24)

JUR yes

BREE TR #HME Wires (10x)

BREKHEEBE TR mm? 0.25 (AWG24)

BREE TREME Cable 10pole

BRLGHEEBE TR mm? 0.09 (AWG28)

MBS ESH

g% SEE e 360 (continuous)

Frir &5 P68

B/NEwm movements no limitation

TEMEEBRE[ &%) °C 40... +125

TN ERBE BT BH) °C -40 ... +85

IEC 68-2-6 #&ZI(Amax = 0.75mm, f=5 ... 2000 Hz) ¢ 50

IEC 68-2-27 #ifi g 200

HEmA

EN 55022 class B, Emission radiated (30... 230 MHz) aB(uv/m) max. 30

EN 55022 class B, Emission radiated (230...1000MHz) aB(uv/m) max. 37

EN 61000-4-2, ESD (contact discharge / air discharge) kV 24/ +8

EN 61000-4-3, Immission HF radiated (80... 1000 MHz) Vim 30

EN 61000-4-4, Burst (on all lines) KV £

EN 61000-4-5, Surge (lines to ground) 144 +]

EN 61000-4-6, Immission HF conducted (0.15...80MHz) Vemk 70

EN 61000-4-8, Immission magnetic field (50Hz) A/m 30

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s) GOhm 20

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) kV 7

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RRBIFHEAR (L) FRAF

AR

n‘;"
=
Ic

Vert-X 37E - 5V / SPI
TR
S B/ E)
2 tRfE & 4%10pole
7 A[i%& 44 5pole / 6pole
9 Ak SRR Rk L8
BEEE/ BB
145 B B4 10pole
A 6 Ak [E B4 6pole
1E [ 88 B CWHR 1 9 Tl IR B L AT BRI L
E @48 CCWH %2
TR, EM#E CWAlE3 .
TUR, EE A #E CCWHik4 éﬁ%ﬁimm
TR, RRES ML LS 03 T 300m
05 #5f 50cm
WEES 99 Wik HHRKE
SPI Standard 8
BHEKE
02 #5 1.0m
06 A% 3.0m
HeaBE 10 A 3% 5.0m
5VDC Standard 2 09 Wik S HKE
Vert-X 3 7 Ei 4 7 3 6 2 8 1 7 0 5
BEEA
36 S E FA360°
xxH %03 to 35; Declaration in 10° steps
QI IERHHKBRKEA
HLRRRE
7 MH-C
LR AS M iR A
37E1 A% A BR R % size 13 ; B 1T Ml 4Gtype 1
37E2 Wi AR R $size 13 ; BiEHITHl Mtype 2
37E4 ##fR IR R ¥Esize 13 ; REMEHITHLA type 4
37E9 Wik BB NT BB RTIG
MH-C MH-C2 .
. 7= ] == 3]
ST 08 04T 44T p : ik (BEESER)
T ISR X -
Tl 848/ &5 X -
18R AR SRR X -
FFRIIRETTL (max. 2) X )
R4S M & - -
BERBSEA TE30°t0360° (BRI X -
BRERATRE (M) - -

BB R ML QANRE (& L) - -
TE¥ B MCW/CCW AR FE / Al 4wi (ML L R M) - -
REIRARE TRRE (FNLE R -

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



l

huf

RRBBEHEAR (L) FRAF

*
| :

Vert-X 37E4 xxx xxx 2xx
Vert-X 37E4 xxx xxx 7xx
B (incl.)
Finbaumass 7 tdz IxBEERTF
) o - - 2x W RE R LB IR 4 M5x12
working position 16
M5 |’ ITEMEZ) M BERITIY
- 21 3 B R AV
/ —
— - Lt SEREER
\ —HF 16
LI.’]“ —{‘I; ':— — -
= T
Lo O‘?‘ :— ajl - i
-l o 1=l rtr— 1 «
Al % | s =
| 7 Wainli - \
e v
™M 1 H
j 4 H
|| #5Tiefe 5 12
# 26 19,4
Vert-X 37E4 xxx xxx 1xx
Vert-X 37E4 xxx xxx 6xx
B 4 (incl.)
Einbaumass ¢ il i, s X BERT
WERE BELT 168 -t o= 2x R S 1R 4 M5x12
SW 13 9P 1,6
L THEMEZ) M BEHERTIGE
21,3 BARYE
P I - B 16 - SEREER
= -
I ~Ht
0 -1 “CHH - -
= T
Sl o] |eo [ co‘ — ,
S ol HHEITNT 1 o
=~ s >
= o LTTH |
SRR b A
l ol [ h
= 4
v =
g5 Tiefe b 12
826 24
A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RRBEEAR (B FRA

Finbaumass ~ [rdz
W1 working position 1,6
B |
[ =Tl S8
il 7
i D] (]
mocg | i = @V
_
1Sk] g5 CHI v 1
s TH 1
1 Nyl
= 4]
o || @5 Tiefe 5 12 165
. 826 19,4
. Finbaumass L EE
.;SW 10___ working position 16
-l 4
Q — - o8
f'\/ L] — 11 HE=Ss
- o o1 <CHAR i
» S\ 3l \ 0 %‘
[ ! | o Y —
| @ ) e 1 Ul [
N/ 2| !
‘w/ ™ JT L 1
=1 | n
7| Yo T
#5 Tiefe 5 g2 1)
826 i

TEL:400-800-5927

4FT : 173 1638 6953

EET:180 1936 4947

l

=]

-~
—-—_
r

c

Vert-X 37E1 xxx xxx 2xx
Vert-X 37E1 xxx xxx 7xx

B4 (incl.)
1Ix BIERF
2x R & 1R 4 M5x12

THENVEZ) M EERTHIE
RR AV
SEREER

Vert-X 37E1 xxx xxx 1xx
Vert-X 37E1 xxx Xxx 6xx

B2 4 (incl.)
1x BEXRF
2x T FE R L IR 44 M5x 12

THRMEZ) M BEHRTHG
RKRAVFHE
SERERFR

CONIELEC

A company of the Siedle-Group

www.imcortech.net



RREBEAR (L) ARAF

Vert-X 37E2 xxx Xxx 2xx
Vert-X 37E2 xxx xxx 7xx
. B2 #(incl.)
Einbaumass [/ +dz 1x BERF
‘A’Orkiﬁg pOSitiOﬂ 8 2x T AE R L E R4 M5x12
M5 N 5_"_"_3 T B(Z) A MR
= HIN -l | BARAVE
[ 1 © SERERER
A ~HT ©
1o g 5 A
S T [
= R |1 S =
[_\J I__ . N
s | 0| B LJ‘_Tf 1= (=2 Iy g A
o A i |
5] T
Y Sy Nyl
= 10,5
|| #5Tiefe 5 12 | | 15,6
926 o i
Vert-X 37E2 xxx xxx 1xx
Vert-X 37E2 xxx xxx 6xx
B #(incl.)
- 1x BERT
Linbaumass LR ox B A R M52
3x M3 warking position B
R S R e TR E(Z) A R AL
1D BoK AV
_ e SEREER
1 — T -
m“ 4{_1?; - g
5 N N
L0 oo r “ T “ Jl \
e G e e
o ] Q =AY
sl | o LJ‘,Tf ik =2y il i
IS it
™ BiNIE
l’ =Y | gl
. = 10, 5
| 5 Tiefe b 12 NN
926 24
A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RERBEFEAR (LB FRAF

Vert-X 37E4
TERER
THLEQZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
™~
A REMHTHADR A A V83D
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
REREER
ITHEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm

BT R K A FED

i Iidz

dx +0.25mm
i dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



RRBBEHEAR (L) FRAF

Vert-X 37E2

RERER

THLEQZ)

MH-C 6.45mm
MH-C redundant 5.95mm

BT R R A FEL

ST

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E

)

1

= 0
e
A

T

CONIELEC

A company of the Siedle-Group

TEL:400-800-5927 48T : 173 1638 6953 FEET:180 1936 4947 www.imcortech.net



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



